
Answer on Question #39496 – Math – Statistics and Probability 

An urn A contains 2 white &amp; 4 black balls. Another urn B contains 5 white &amp; 7 black 

balls. A ball is transferred from urn A to urn B, then a ball is drawn from urn B. Find the 

probability that it is white. 

Solution. 

Let 𝐴, 𝐵, 𝐶 be three events: 

𝐴 = {𝑡ℎ𝑒 𝑠𝑒𝑐𝑜𝑛𝑑 𝑏𝑎𝑙𝑙 𝑖𝑠 𝑤ℎ𝑖𝑡𝑒}; 

𝐵 = {𝑡ℎ𝑒 𝑓𝑖𝑟𝑠𝑡 𝑏𝑎𝑙𝑙 𝑖𝑠 𝑤ℎ𝑖𝑡𝑒}; 

𝐶 = {𝑡ℎ𝑒 𝑓𝑖𝑟𝑠𝑡 𝑏𝑎𝑙𝑙 𝑖𝑠 𝑏𝑙𝑎𝑐𝑘}; 

We need to find 𝑃(𝐴). Hence: 

𝑃(𝐵) =
2

6
=

1

3
; 

𝑃(𝐶) =
4

6
=

2

3
; 

𝑃(𝐴|𝐵) =
6

13
; 

𝑃(𝐴|𝐶) =
5

13
; 

𝑃(𝐴) = 𝑃(𝐴 ∩ 𝐵) + 𝑃(𝐴 ∩ 𝐶) = 𝑃(𝐴|𝐵)𝑃(𝐵) + 𝑃(𝐴|𝐶)𝑃(𝐶) =
6

13
⋅

1

3
+

5

13
⋅

2

3
=

16

39
. 

Answer. 
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